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(Answers to be written in English.)

What are the various meanings of common law?
Distinguish a contract from an agreement.

Explain briefly the essentials of a tort.

> W o=

“Pay C or order $100, when I marry X.” Is the instrument
which contains the above expression, valid as a bill of
exchange?
(Answer to be accompanied with reason or reasons.)
5. If A borrows B’s watch, and a thief steals it from him, is he
responsible to B for its value ?
(Answer to be accompanied with reason or reasons.)

HIHE (ekREHR)

(Man iibersetze die nachfolgende Frage ins Japanische und

—

gebe die mit Griinden versehene Antwert entweder auf
Deutsch oder auf Japanisch.)

Kann A, menn er dem insolventen B. Waren verkauft hat,
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1.
2.

wegen arglistiger Tduschung aufeshten, weil B ihm seine
Vermogenslage verschwiegen habe?
Man erkldre (entmeder auf Deutsch oder auf Japanisch) das
Vorhiltnis zwischen Rechtsgeschiift und Willenserklirung.
HHEHE (SEEDR)
Erklidre den staatsbegriff.
Ubertrage den folgenden satz:
“Lediglich, wenn der staatshauptwille nicht vom Volke sich
ableitet, ist die monarchische Lesinnung als Ausdruck des
Ordungsgedankens beim Volke stark genug, um dem
Selbstbestimmungsdrange des Volkes die Wage zu halten.”
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HEREH (KxgEan)
Give a definition of consideration.
Is Motive the same thing with Consideration?
Explain briefly obvious, physical or legal impossibility.
Translate the following words and sentence into Japanese
and discuss them : —
gratuitous bailment
@ * gratuitous employment
r forbearance to sue
(b) { compromise of a suit
| composition with creditors

r executory contract

(c) 4 executed contract
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executory consideration
executed consideration
Gy
The adequacy of consideration is for the parties to consider
at the time of making the agreement, not for the court when
it is sought to be enforced. (. 99)
Partnership Act. (EH#2AH)

1. Point out what are provided forin S. 9atp.5?

2. p . S.23() atp.9?
Limited Partnership Act.
3. » » S.1latp.27?

Answers may be given either in English or in Japanese.
SR (HEREHR)
I~ — N — W EEYR RO § 29. Wirkung des Indossa-
mentes f b TransportwirkungéHig ~ 2%
HEH (EREEHR)
WER | HENPNIED
pactam RS
Tl (MTEERH)
| o o Ol - N R
1 EEIRNRRBHNER
CRH (KEREHR)
| RN EX
1 ] 3R = SR IR \ S VR R K

1 IO B NN
QMNEEE I mBVEEX D
HEH (frIREAR)
| HKER XERE XKERKERE~R
1] HENmDE HKERENDMENR
1] SRAErIEMs | e ~ i ™A ¢ EHER NAR K 1 4 NEE
A EIRama ¢
Bl BRSNS N N E D BHEE HERENREX
X
NHEER | ERHE
EEN (ERRETIN)
| SEENHgEHNHERE
1 HERENEENEEX (D
BiEd (dcIREan)
| EEEEE S BER AR RORREE R MK
¢ HimEM™MEN R 4
1 HEEERERNIKENRERX D
B (REEEan)
| BN RE
1] SRR S~ s | R | 5o =i~ g
INAR 8 R IE N R o = R NIRRT N R IR R
FrETXAFEENEXKR Y
KEPHERIR 1 (RRREER)
| OENERNEX
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EEphER (RIEBERIGREE) (uEREAR)
| BHRNEENEXEERRXNEEX N
EriER (R ERHRIHE) (BEESETR)
I RRESEEINHEXYEENDEED + 2 MO~ RENE
RXE»
1 BENERNEEXED
Kb R ES - (ERBgERR)
| BCER N RNFHBINEK
HEREH (JEREXR)
| KR m R K QNS RN E (m
1 BEANREIEAMN#E | Eon NN MY R
HEEHN (M REETR) _
| RRCHE<HE NS R BESEEENE N N R
ANERENEDNBRERNSTRENERX <D
1 RREEXENEES B 28R ERE K D
EE (HREREEE)
IR BEXK O HE S QB E N SER A URENE
K<
1 SREE B ERNTERN 4+ ¥
EEaan (111812 57E)
B-ATsk S | T N EREREE D N HETE N RE N BN N i
NH<EMNE S N 2 REMMREHR T =X N SR N
TEE TR Y = BN AR N < B N i N 2 R T
EH-KED (2 8)

E-HOKE R | B = R IR IR IR N EE A 0V ~ 0 | 6
SIENRIRAS 22 M 2N NRER S B RS 2O~ 38dn
HERN RS EREIERR S K 2 ks

HEREH (RIS )
Compare a company with a partnership.

” il

What are “preference” “ordinary” and “founders” shares ?

(==)

Explain the position and libility of the director of a comany.

Into what classes are debentures divided ?

In what cases, may a company be wound up by the court ?

What is a limited partnership ?

EE ANEPML =7 e =ZME B BRI ELT Y
HEMH RS (REBEIR)

1. Define a bill of Exchange, and distinguish it from a bill of

A

Exchange in the Japanese Commercial Code.
2. Explain the meaning of the following terms;

a. referee in case of need,

b. bill payable to vmmﬁmﬁ.

¢. payee,

d. days of grace.

e. pay D, or order without recourse,

/. Drowee.

g. General and qualified acceptances.
3. Translate the following article into Japanese ;

a. Where a bill, either originally or by indorsement is

s

ERRTIRERELSN
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1.
2.
3.

mxuqmwm.om to be payable to the order of a specified person
and not to him or his order, it is nevertheless payable to
him or his order at his option.

b. A bill may be made payable to two or more payees jointly
or it may be made payable in the alternative of one of two,
or one or some of several payees. A bill may also be made
payable to the holder of an office for the time being.

HERMIRIEY (HiiEan)

Explain the rights of an unpaid seller against the goods.

State as fully as you can what you know about “deviation.”

(1). What is meant by “document of title”?

(2). Distinguish between “bargain and sale” and “agreement

to sell.”

(3). What is the difference between “maritime perils” and

“perils of the seas”?
Sm¥EdE (EEBETR)
M nERN SO X REERE
ERI~\EHsEERNEEX AREHRE
Bislh (HEREIR)
B~ X U NRESNEN
RENEE <N HHRUNERBND N IR NAD 8
EiER (KEREER)
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2.

MERE (HERed)
ZN RS A HBEORBBRENEHAIN S D
HXA IO N HEERNERNEEK D
IANRY NAXNERNERIHUNEE (8~
MENSHEXE WEERED) 1| 2 SREEK D
TS KN R K R B R R R N
RENEEY M
FUNENK R |5 ™3 e I X <
C El GErmEam) |
NN E OREUREEZ R AR NMERY W
palGEEES I £
HHE~NHeE
RANTHEER ~
TR (RREETR)

What are the general laws of demand in the consumption of

goods?
Translate the following sentences into Japanese :

{;m location of his establishment is one of the chief
concerns of the enterpreneur, since a mistake is likely to
prove fatal to the un- ¢Importance \ how well it may be
pertaking no matter ﬁ of _oom&osg managed in other res-

pects. What is true for one establishment is true for

all; the proper localization of industries is therefore an

important element in the organization of production,

PR

RBT RS
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1.

determing, as it does in large measure, the efficiency with
which labor and capital are applied.

KR (EREEHR)
Although the relationship between father and son is a very
near relationship, it may rmgm: that there is but little like-

~ ness of inherited idiosyncrasy, and therefore that the two

may have different and even opposite tastes. By the law of

atavism, a boy may resemble one of his grandfathers or

some remoter ancestor, or he may puzzle theorists about

heredity by characteristics for which there is no known
precedent in the family.
What a modern father really desires is that a son should go
right of his own accord, and if not quite of his own accord,
then in consequence of a little affectionate persuasion. This
feeling would make command unsatisfactory to fathers,even
if it were followed by a military promptitude of obedience.

AH$eE (i¥abit 2 TE)
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HEOEARIE ~ SRR | KRR N S Ok - v [ X ¢
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S b SRR
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< HoEmESD
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NHEREmoHE | HENEWRBER (D

WEHE (MILEEAR)
It has already been said that the very existence of the double
standard tends to bring the relative values of gold and silver
toward the ratio chosen. When a supply of the overvalued
metal is attracted to the mint, so much less of it is left in the
open market..Its value tends to rise, it becomes less overval-
ued, perhaps ceases to be overvalued at all. When, on the
other hand, a supply of the undervalued metal is melted or
mxconmm. so much more of it comes on the market. The

additional supply tends to lower its value, and the market

ratio comes nearer to the mint ratio. A country having a dou-
ble standard may be said to be in the position of one who
offers to buy and sell at its coinage ratio say wa to 1) any
quantity of gold and silver that may be offered. This is not lit-
erally the case; the country does not directly buy gold and
silver bullion. But its free coinage of both is tantamount to
purchase, so long as a supply of both metals remains in cir-
culation, and the substitution of one for the other can actual-
ly take place. When once either metal has completely dis-
placed the other, this consequence no longer appears.

2. Criticise the Quantity theory of money.

BCHE (BHRERE)

1. Why has the check a tendency to speedy redemption?

2. Translate the following sentence : “It is easy to arrange the
purchases of paper with reference to the times of maturity,
so as to provide for a steady succession of payments to the
bank, and thus facilitate the reduction of the business, as
prudence or good policy may require.”

REMR 1B (REEEHR)

EELE (TR EHR)

S IEICEHE (NERE )

W (HEREHR)

R (IcIREHR)

PHEREEEY (FRRE RiEREan)
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We will not say that the world is given to men of this tem-
perament and this envey on the contrary, there is often a
turn in the tide, the ovation of the spring may be the prelude
to the unpopularity in the autumn; but we see that wﬂ&.
ences are given them ; we see that an impressible men are
deeply moved them —that the M_Mmg topics of legislation and
finance are for the instant affected by them— that he pro-
longed effects of that momentary influence may be felt for
many years, sometimes for centuries. (Gladstone)

EFEANE, £33 RUNNERZERN 7 WEAV S NEL 4
K77 A EAE hw_wvm‘\ TOVEL L AFER = s E N

AHLVRIAEVHA T L UAAENSEREN L

BT CHERLS

iE

hRXFFEHE F225



7E /) bATTIESA
BRI (REREETR)
Explain and criticize the following statement in Japanese :

There is but one way to remove an evil - and that is, to remove
its cause. Poverty deepens as welth increases, and wages are
forced down while productive power grows, because land , which
is the source of all wealth and the field of all labour, is monopo-
lised. To extirpate poverty, to make wages what justice com-
mands they should be, the full earnings of the labouer, we must
therefore substitute for the individual ownership of land a com-
mon ownership. Nothing else will go to the mwmwm of the evil —
in :om..:bm else is there the slightest hope.

Public finance (H-12#%i2HH)
1. What is the Nature of public expenditure ?
2. 'What is expenditure for common benefit ?
Give an example.
3. Define taxes and fees.
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KRB RN 28 NENRERXVE<LR
EnEYm
BHEE~NRHNEEYm
JEiTiedE (RUEREAR)
BN HER NS X { A IERE NG S KEERNEm
REETE R MEE A ENES B NERENERI K N
EREE (HRREER)
BEES0E (100 A) JEMEBEIZr Y —HAMY
¥24.90 (100/T =1) % L5HEE¥103.60, F 8 N EHA
SERCHB/ 23%T) Y MNET SRBRERTL 5 A
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35" x2'8" %3 4" ) FEREMER 205 Tk v P AN EE
BlE 1 Wb 25/6 U EEH T K A
A Kobe merchant wants to draw on a Paris merchant in
order to collect ¥6,000. what amount in Frs has to draw for?
Excharge @ Frs. 2.57 WM brokerage @10/00.
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LJEENSRENENM X (A3  EEZREeN 0 TRER
FAoHn BN SERRKEEEESOKY B NERERE-K
CHFRD | S Em
EHER (CIdREaR)
ERRENR HERENR RARETRISENKE
g ORI IR E S A o7 Hidh CEEENENED TN
WNERRRRMNESENH RN @EL DY RY Db
MR Hige < | BNES CEENB R s d 208X
T M AR RE N RARES NI A N Nk bEEE JTERN
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INH NN AT CRRIR S
g (n—naaBEaH)
What is the condition of business today? ‘
What is the fastest and most expensive means of transporta-
tion?
What are the Tokyo newspapers talking about?
What have I talked about?
Write about “human nature.”
Bt (NEREHR)
LR NI A N NRIR X BN EE N
BEEWEENREX D |
EHT (RSN
LR EE X Vi
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R 8
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2.
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10. AHZHAETET 2 Wy
Rl =356/ F¥1.300._
SN IR AR R /N 49 ¥ 2.200._
FE a BTHHESHRE ¥25.300._
%475 O—fE5% ¥ 3.000
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LHO—ERYE 150
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IEEE (KEREIR)

| REREBDRRCRHE IEBE~N PN NrEE
SN HEER K D

1 HedEE RN

HITE (KHEETR)
Describe the meaning of the following paragraph and
explain precisely !

(a) On the assets side of the balance-sheet (of the Bank of
England) the first entry is “Government securities.” This
covers the Bank’s holdings of British Government stocks,
of Treasury bills, of Exchequer bonds, and of deficiency
bills ; these last being the security given by Gevernment to
cover temparary advances made by the Bank. Such
advances are usually required at the end of the quarter, if

the Government balance is insufficient to meet the dividend

114<

and other payments which then become due. Again, at a
time when gold is flowing out of the country, a derease of
“Government securities,” as has already been explained,
indicates that the Bank is borrowing from the market
in order to tighten up the outside rate of discount.
(b) Explain the following terms.
(1) deposit currency. (2) accepting house. (3) export
point. (4) “invisible export” (foreign exchange) (5) bor-
rowing on consols.
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RE-LENS
Hikxix (HHE#ZEAW)
L HHKIEIR NN N
BUBKEHK\BHER
EHEKE (BR=REHE)
HLNEHBEINEEX D
ERBEINEHL BER R B K R
ks (EREAR)
HE~N IS KEENE dm
HE B X RUERE TR N RS~ RE N EENK D
AT (KISREAR)
R L 4 B ~ B | A AR
SRR N R
BERKEKSEN | HrRERW
I RS (1) 188 (DER () HREEEE

NHNE E N

EHHE (MxREHR)

f-REYNERX D

1.

The bank fowards the drafts, with the documents attached,
to its branch abroad, at the place on which they are drawn.
The branch bank presents the bill to the drawee for accep-
tance. If the bill is drawn “documents against payment,” the
amount of the bill is generally paid at maturity, and, if in ster-

ling, at the specified rate of exchange, plus interest at the

agreed-upon rate from the date of the draft to the approxi-
mate time it will take for the money to be remitted to and
reach London. The Bills of Landing and Policy are then
handed to the drawee, and the transaction is ended ‘mo far as
the bank is concerned.
Re-exchange is a term used to denote that a fresh bill has
been drawn in place of one which has been dishonoured.
The new bill would be drawn by the holder of the dishon-
oured bill, on the drawer of the latter. The re-exchange
account is a statement mmSEsm the costs incurred on
redrawing, viz, charges for protesting, brokerage, stamps,
commission, &c. These charges are added to the amount of
the original bill, the total amount being drawn for the new
bill.
Sometimes a steamer is unable to take on board all the
goods sent down for export. Those not taken on board are
said to be “shut out” or “short shipped.” The documents
made out for them are cancelled, and everything of that kind
has to be begum de novo, when the goods are to be shipped
by another vessel.
RBEEXVEENSID I RNMESF A REENEN D
Bonds, bounty, open policy, telegraphic transfer, c. i. f, f. p.
a., council bill.
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M REN R PEN< NN DNSORN N E R
e ENMER N R 24 B R JRoBi
EEHNUERGEE~NFERIEREFERIRMRL
RREHENT P Ncx
EENKE AN B N - K RARIEREEKN <
R AT 3 | ERDIN D N BB & R IR | EEEE X

a MR E HEE AR R KET NS N K ERICEA 2 48
*BEEBERE {KONEw SR EEEY | EIRmE L
A KRN X AER IR <N R RUE AN KR
FL{ANRUINNERNErHASIRNHENNE X R
HEEY &

HYER (EEgEaN)

The servant being an engine whose motive power is a Soul,
the force of this very peculiar agent, as an unknown quantity,
enters into all the political economist’s equations, without his
knowledge, and falsifies every one of their results.

In some far-way and yet undreamt of hour, I can even imag-
ine that England may cast all thoughts of possessive wealth
back to the barbaric nations among whom they first arose ;
and that............ , she may be able to lead forth her
sons saying,—

“These are my jewels.”

_

Hal B O Ao

EXER (EH)
KEIRERER  NKEQR N S l@Reiqy” 1@
KON A ENABIRN R HE @R RERRUE NS4
M B ENRCIN T LR NRRT & EHEN
B3’ HIERNERR NEsHd A e J8HmEEN
NG =

HifTE (n—NBEHH)

Why is the English language the most useful for travelling ?
Which do you find easier to understand : written or spoken
English?

Why do you not always understand everything that your
English teacher says?

What is the best way to become a fluent{quick)speaker ?
Why do you know less English than your teacher?

Why does you teacher know more English than you?

Why is it a good thing to learn many sentences by heart?
Write down the plurals of the following words : Journey, dif-
ficulty, chief, Dutchman, storey, man-servant, index, folio,
plum-blossom, content.

Write out the following sentences correctry :

a. The tallest of the men came back yesterday.

b. Every one of the men were present.

10. Write down the past tense of the following words: Arise,

bite, climb, sing, help, go, do, known, strike, spend.
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3. Enter the following transactions in the Journal and leash

I
il
14

Book.

Jan. 1. KWada commenced business with cash at Bank,

>

>

>

¥1.50000; Cash in hands, ¥15000, Goods on hand,
¥530000; Besides these, T. Sasaki owed him ¥25000 ;
M. Kimura owed him ¥30000; and he owed to I

Ichimura ¥35000
2. Sold A.Imamura, goods for cash +---- ¥50000
~ Bought of T. Taketa, goods on credit ¥60000
3. Paid into Bank «««--eeeeererrrerneennernnnns ¥40000

4. Paid LIchimura. by cheque Viz__

account , ¥35000
Less Discount » 1000 ¥34000
5. Drew cheque for petty cash -+++-«---... ¥15000

6. T.Sasaki. paid into my Baking account ¥25000
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g (n—>@EHn)
1. What are you thinking of doing this vacation?

2. Why do Japanese students practice judo and wrestling ?

© © N o

10.

What is the difference between judo and wrestling ?
Write down some of the rules of wrestling.
Why can you not understand what foreigners say when they
are speaking among themselves? .
Why is English the most useful language for business?
Why are wooden houses used in Japan ?
Why do students and others wear émﬁmmmmvo: their wrists ?
Write down which you like better, and why: travelling by
land or sea.
Write down what a student has to do before he can enter the
chuo Dai Gaku. ‘
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72.45 39.75 324.56
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59.38 676.38 3.75
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